
BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

x3



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

COMPONENTS

1.   LEFT SIDE DOOR (x1) 3.   LEFT SIDE (x1)

9.   RACK (x4)

2.   RIGHT SIDE DOOR (x1) 4.   RIGHT SIDE (x1)

10.   FIX RACK (x2) 11.   VERTICAL (x1)

5.   BASE (x1) 7.   TOP (x1)6.   CROSSPIECE (x1) 8.   BACK (x1)



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

TOOL SET PROVIDED TOOL SET REQUIRED

12.   ALLEN KEY (x1) 13.   ALLEN EXTENSION (x1)

4

18.   PHILLIPS SCREWDRIVER

15.   DIN 965 M4 x 6 (x6) 16.   SHELF HOLDER 
PIN (x16)

14.   DIN 7991 M6 x 30 (x3) 20.   CARPET (FLOOR PROTECTION)

4

17.   RATCHET WITH ALLEN KEY SOCKET

19.   LEVEL



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

04

x3 DIN 7991 
M6x30

CARPET (FLOOR PROTECTION)

1. 	 Place the crosspiece (n.6) on top of the base (n.5) and insert the three DIN 
7991 M6x30 screws to secure it. 

2. 	 Lay the left side of the cabinet (n.3) and fit the base and crosspiece 
perpendicularly. Insert the hex key through the two holes in the base and 
the crosspiece, rotating it clockwise until you feel a stop to secure it.

FIXING SYSTEM

Lamello AG | Verbindungstechnik | Hauptstrasse 149 | CH-4416 Bubendorf | Tel. +41 61 935 36 36 | Fax +41 61 935 36 06 | info@lamello.com | www.lamello.com

 
 
 
Art.No. 101402 

Zeta P2

CNC | Partner network: www.lamello.com

1.

P-14

14
 m

m

1.

2.

2.

3.

3.

4.

4.

 
 
Art. No. 131506 
Ø = 6 mm 

 
 
Art.No. 125344

 
Art. No. 131556 
Ø = 6 / 10 mm  
l = 100 / 35 mm

 
Art. No. 251993 

 = 4 mm 
flexibel

Art. No. 271945 
 = 4 mm 

75 × 55 mm 
Art. No. 271945A 

 = 4 mm 
120 x 50 mm

open close

 
 
 
Art. No. 132142 
DP, 100.4 × 7 × 30 mm  
4 / 6.6 / DTK 48 mm
* Passend zu allen aufgeführten Fräsdornen 
 Suitable for all cutter arbors listed   
 
Art. No. 132143  
DP, 100.4 × 7 × 40 mm 
4 / 5.5 / DTK 52 mm

 
 
 
Art. No. 132144  
DP, 100.4 × 7 × 16 mm 
4 / 5.5 / DTK 28 mm

 
 
 
* Art. No. 132150  
 20  ×  50, L = 102 mm

* Art. No. 132151  
 25  ×  60, L = 102 mm

 
 
 
* Art. No. 132152  
 16  ×  50, L = 85 mm

* Art. No. 132153  
 16  ×  55, L = 68 mm

 
 
 
* Art. No. 132154  
 16  ×  50, L = 85 mm, mit Spannfläche (2°-schräg)/with clamping surface (2°-angle)

* Art. No. 132155  
 20  ×  50, L = 85 mm, mit Spannfläche (2°-schräg)/with clamping surface (2°-angle)

 
 
Art.No. 132140 (Diamant) 
DP, Ø 100.4 × 7 × 22 mm 

 
 
Art.No. 132141 
HW, Ø 100.9 × 7 × 22 mm 

C
la

m
ex

 P
-1

4 
03

/1
8 

A
rt

.N
r. 

98
81

63
0 

V
S

  RAL Art. No.

9010 335280

9011 335281

1014 335282

1011 335283

8007 335284

8017 335289

9002 335285

7035 335286

7040 335287

7031 335288

  RAL Art. No.

9010 335380

9011 335381

1014 335382

1011 335383

8017 335384

7022 335388

90°

Abdeckkappen/Cover caps

100 Stück/100 Pieces

45°

open close



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

05

4. 	 Fit the vertical piece (n.11) into the back section (n.8) and follow the next step.

3. 	 Tighten the two fasteners of the fix rack (n.10) to the left side panel (n.3) inserting the 
Allen key through the two indicated holes and rotating it to the right.



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

06

6. 	 Fix the vertical board (n.11) perpendicularly into the back (n.8) inserting the Allen key through the three 
indicated holes and rotating it to the right.

5. 	 Slide the back side (n.8) through the marked rail on the left side (n.3) but do not let the back side 
(n.8) touch the base (n.5) yet. Be careful with the fixing tab of the fix rack (n.10) and carefully fit it 
into the vertical piece (n.11).



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

07

8. 	 Place the right side (n.4) perpendicular to the back component and secure it by 
inserting the hex key through the six holes in the base (n.5), crosspiece (n.6), and fix 
rack (n.10). Rotate it clockwise until you feel it stop to secure it.

7. 	 Continue sliding the back side (n.8) until it fits into the base (n.5) and secure the 
vertical board (n.11) and the fix racks (n.10) into the crosspiece by inserting the Allen 
key through the six indicated holes and rotating it to the right.



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

08

10. 	Make sure that the distance between the left, base and right components and 
the back is constant throughout the whole cabinet.

9. 	 Place the cabinet vertically.

BACK PIECE HEIGHT



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

09

UP

DOWN

12. 	Place a level on top of the cabinet, and adjust the height of the legs by inserting 
the ratchet with the Allen socket into the lower holes found inside the side panels. 
Rotating to the right raises the leg, while rotating to the left lowers it.

11. 	 Fit the top part and secure it to the vertical (n.10), left (n.3), and right (n.4) sides by inserting the Allen key 
through the six indicated holes and rotating it to the right until you feel a stop.



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

10

13. 	Insert the hinge cup of the doors into the housing and insert the six DIN 965 
M4 x 6 screws with the Phillips hand screwdriver to secure the doors.



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

11

14. 	Use a Phillips screwdriver to adjust the depth, height, and width of the hinge 
to align and adjust the doors.

 



BRIDGES LARGE
CURTAIN

MULLER VAN SEVEREN
2024

BD BARCELONA
RAMÓN TURRÓ 126, 08005 BARCELONA (SPAIN)
(+34) 934 586 909
BD@BDBARCELONA.COM
BDBARCELONA.COM

TECHNICAL DEPARTMENT 
CARRETERA CAPELLADES KM 22,750 
NARCÍS MONTURIOL, 7 (POL. SESROVIRES)
SANT ESTEVE DE SESROVIRES 08635 BARCELONA (SPAIN)
(+ 34) 937 713 051

12

15. 	Insert the shelf supports on the holes located on the left 
and right sides and the vertical board. 

16. 	Place the shelves on top of the shelf supports.


